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Lets look at some equations and graphs on Desmos

Compare the equationy = (x - s)(x - t)

to the graph, what do you notice?

-

(7( +3) ‘:K-— 5)

If a graph has 2 x-intercepts at_7Z and \/, then the
equation of that curve is:

AFx-2 ) (x-v)

If we know ANY other point (x, y) on the curve then we
can solve for "a"

(ﬁ: Q(X’E)(X,’V>
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Forms of a Quadratic Equation

Standard Factored Vertqz<
W= ax +bx +C w4 (+-2)(x=%) vz a (x-K) +k

\3:2{23@ | y
AT Ml A
| i | B
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Determine an equation for the following:

S ‘é e,.ssms. 'l‘\i["" l‘

a) A parabola with x-intercepts of -2 and 3 , :
3-@(’( s)(’x—t') /
Ta (‘X (")S) (7( 3) ( )(.13
\f) “(X +2) (X ([t()
b= a(5+2)(573) /

= /,7 (-u—'l\ (x-3)

b) A parabola with roots of 3 +/5 and 3 /5
and has a y-intercept of 12. S t

o, |
(0,12)

= a (x-s)(x-t)

4= o (x ~(3+09)) (% (3-55)) RN

«3-«(& -3)-§5) (k-3)+¥5) (aH‘:) b)
y= a (- 65%)

9= a(x=6x+1-5) )~ (0.R)

Y= a(x™- 6%*‘0 6 )
Y =a (& 48) +\ x ¥

lll;q(%\ ) U> 3(7((81»'1

%
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Determine an equation, in standard form, for the graph.

Y (sz_a(x-—s)(X*'(i)

T (0.3.6) —]
 3.6=a(0+4)(0-7)
(S.E). 3,6:-0\(413

3.6 - ¢
e

/K} 034 1
:_0’3(@ ) — X?.ytlx"sx-\

Q7203 (% rx-12)
\:)f’ijz -0.3x+3.4
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An arch bridge spans a 48 m wide river and the difference
between the height in the middle and the end is 15 m.

a) Draw a picture of this situation. 4

b) Determine an equation for your graph.
Yza (x-s)(x-1)
|S=a (24-0)(24-48)

15 =a(24)(-2Y)
[S ’-'—’l(’S?é)

-15
574 T4
‘___S__:Q

[
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